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1| 5/26 |sEE Z00H| AALE 5Tl 2% N o2 100,000

2| 5/26 |=YEE StOO0OEY XtE7{1oH, 52t th | 1 200,000

3l 526 |TREE| GE8TOOOOOOMEH & X1 o] 1 150,000
4| 526 |ZHEE mlvloloX = 2500 | - 500,000

51 526 |ZHUEE SHOOHE FOO XtEZ7{1CH, 152+ o | 1 300,000

6| 5/26 |ZHEE E200 =73 1271 |12 240,000

7| 5/26 |FHUEE MOOE =300 o - 300,000

8| 5/26 |TYEE 0JOOE BX[20ME ME| 20 300,000
9| 5/26 |THUEE Hooz TV43921K| M 700,000
10[ 526 |SYEE HNAOOCOOZ XtEZ{10H, 152 N 300,000
11| 526 [=Ad=E HOO(The OOOO) R A 2LH o | 2 300,000
12| 5/26 |EYEE FETOOOOEHH A 10kg 5E Z |5 150,000
13| 526 |ZHUEE Eileler:! St RE e =t T 300,000
14| 526 |THEE oo™ 22440071 7§ | 400 150,000
15| 5/26 |THEE Fs000=H ME7| 2rf o | 2 100,000
16| 526 |ZHUEE ds00¥ M XH QIX|1CH, A 20kg 2, L7F220kg 12 = | 3 250,000
17| 526 |SYEE OtOOOR Y 718" | 1 400,000
18| 5/26 |SYEE 500002 M<=1,0007H, EE|%3007} 78 11300 500,000
19| 526 |ZHUEE H200 |0 Kb A2rH | 2 300,000
20| 5/26 |FYEE 45000z XE 7 2l - - 100,000
21| 526 |FHUEE StOO MZ7| 2CH, A AHH 100 o 2 250,000
22| 5/26 |=HUEE 500000 0ANH Xt 74 2ch o | 2 300,000
23| 526 |FHUEE HOOXEHA K& 741 CH o | 1 150,000
24| 5/26 |THUEE THOOOOHZ & S9UZ | - 100,000
25| 5/26 |FREE| FSTOO0O0 2I9HE ME7| 20} | 2 200,000
26| 526 |FHUEE ielom! O{ 7§ OFALX|Z| A 574 Nl s 500,000
27| 5/26 |THUEE AOOER7| abcFA129A ALDFEFE 08 A HhA | 32 500,000
28| 526 |ZYEE 5000002 HAl3ME ME| 3 50,000
29| 5/26 |FEEE =00 10t 20% |20 200,000
30| 526 |ZHEE AMEOO 491 JtEAALA A | 20 100,000
311 526 |=HEE 200 4391K| Tv, o ofZ2}0| 7| 2Lf th | 3 1,000,000
32| 5/26 |FHEE o0=d R YEME FH 24MHE ME| 24 360,000
33| 5/26 |=HEE FO00H¥ EAEY| 5Cf o | s 150,000
34| 526 |SHEE FsTO0000HE MZ7| 2rh | 2 100,000
35| 526 |RHUEE 300 AlALO| 8380 A | 80 80,000
36| 5/26 |SHEE Fs8000% ME7| 2rf o | 2 100,000
37| 526 |SYEE 2 0008 ool 5 8| s 150,000
38| 56 |FHEE OO0 22l ool 12 8|12 360,000
39| 526 |ZHEER HOO ool 3% 3 100,000
40| 526 |[EE elely =Yk EEO= 4= 102 2| 10 100,000
41| 526 |ZREE elely =Yk EEO= 4= 102 2| 10 100,000
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42 SUSE kslele) HZ7] 20 100,000
43 TUSE 2000 OOXI2 £etol7] 27 100,000
44 sQE= Z00002 d(EAE 7tE) 200,000
45 s9e= ZoM oo = 2}0| 7| 300,000
46 sHUEE o T2 Qx| 200,000
47 SUSE YE000 T2 elx| 200,000
48 sHUEE HOO% ofloi=2to|7| 200,000
49 s9e= 200 oo = 2}0| 7| 400,000
50 TUSE HRO0 04 10kg 5% 200,000
51 SYUEE 0JOOE X104 £ 200,000
52 SQE=E HOO(The OOO0) A10kg 5%, £2t0(7(3, {X|, ®7|Ct2|0], 1H|7| 600,000
53 SUAEE FS000 Met g Z(&eto|H, AX S) 400,000
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